HELI@S

SBMSW
ASSEMBLY INSTRUCTION

* Please read these instructions carefully before using.
* Fits any soundbar model and any size flat panel TV.
* Load capacity: 15kg (33Lbs).



SBMSW Information

* Please read these instructions carefully before using.

e Fits any soundbar model and any size flat panel TV.

* Load capacity: 15kg (33Lbs).

Su pplied Parts and Hardware: (Some parts not shown at same scale)

o Hardware list:

A. Soundbar bracket

2PGS

-

)

)

ol

—

a—M4X16 bolt

b—-M5X16 bolt

¢——M6X16 bolt

d--M8X20 bolt

e—MbHX30 bolt

2pcs 2pes 2pcs 2pcs 2pcs
f-M5 nut g-M5 washer h-M6 washer i-M8 washer
4pcs 4pcs 2pcs 4pcs




Safety Warning

Please read this entire manual carefully before assembling this unit to
avoid bodily injury and/or any property loss. If you do not understand
these directions, or have any doubts about the safety of the installation,
please call Tech Support at 1-866-839-9187.

Please check carefully to ensure there are no missing or defective parts.
Our customer representatives can quickly assist you with installation
qguestions and missing or defective parts. Replacement parts for products
purchased through authorized dealers will be shipped to you directly.

Do not attempt to use any parts not provided by the manufacturer. Using
other screws could cause injury or property loss.

Never use defective parts, as improper installation may cause damage or
serious injury.

Do not use this product for any purpose not explicitly specified by Metra
Home Theater Group™. Metra Home Theater Group™ cannot be liable for
damage or injury caused by incorrect assembly, or incorrect use.

* Read these instructions.
¢ Keep these instructions.
¢ Heed all warnings.

*  Follow all instructions.

¢ WARNING: Use only the supplied screws intended for the current
application to avoid personal injury or property damage.



Assembly Instructions

Option 1: Attach the brackets on soundbar directly.

ure 3



Option 2: If soundbar has its own brackets, you can assemble this bracket
as shown below.

Figure 5



Option 3: If the soundbar brackets are being used with the TV wall
mount then please assemble as shown below.

Figure 2-2






HELI@S

©2016 Metra Electronics Corporation, 460 Walker Street, Holly Hill, FL 32117-2699
Specifications are subject to change without notice.
All trademarks are the property of their respective owners.

Melra"s—

HOME THEATER GROUP
1-866-839-9187 « www.metrahometheater.com



